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- Mark 1 or | in the box at the end of the sentences to indicate the rising or the falling intonation (0,5
point) : :
1. A: The aiticle is about the causes of global warming.
B: The causes of global warming? ' _
2. What do international students like best about studying in Viet Nam? [/ ] :
Fill each blank with an appropriate word from the box (Each word can be used only once. There are
more words than needed) (1,5 points) : :
archaeological [ undergraduate § architectural + heat-related
academic . 3 ; archaeology .| infectious §_ carbon footprint ¥
3. It is not easy at all to get a good job without a(n) qualifications.
4. The simplest way to reduce your ____is to cycle to school.
5. In the polluted environment, diseases can be passed easily from one person to another.
6. The excavations that led to the discovery of the ancient city lasted several years.
7. Taj Mahal is considered te be-a masterpiece of ____style in design and construction techniques.
8. Most of thesé students are interested in pursuing ___ studies for bachelor’s degrees.
Put the verbs in brackets in the correct tense or form (1,5 points)
- 9. The trees (plant) ___ last week are growing well. p{am‘fd
10. Scientists (work) ___on the site found many ancient tools, tombs and pottery, and made some important
archaeological discoveries. /o ifine :
11. (Watch) _ the documentary about wildlife, I made a donation to an environmental society./fa vin w@fd%m’
12. Thank you for (save) ___the lives of hundreds of wild animals for the last twenty years. Jiqy. faved
13. They (build) __their house for ages and they hope to finish it next year. haye heen  buildein
14. How many times (you/ attend) __ that international conference? fizve Yo akendec ]
Choose the underlined word or phrase (A, B, C or D) that needs correcting (1 point) i
15. Amy seems like a bright student. She's always the first to be finished her work.
A.seems . B. the (C)to be finished D. like _
16. Having cutting down many trees in the area in the past, the people here now have to suffer from really hot
summers.

“A. in the past B. from . @Havihg cutting D. to suffer
17. These companies are accused of releasing a large amount of carbon dioxide into the atmosphere last year.
@ releasing j B. amount C. of D. the

18. Due to the geographical barrier, he has been deciding to choose distance education in order fo get his
. university degree. -

A. to get - B. to choose @has been deciding D. Due to

Read the passage and choose the best option for each blank. (1,25 points)

The Huong Son Complex of Natural Beauty and Historical Monuments is situated (19) ____a limestone
mountain range, some 60 kilometres southwest of Hanoi. This mountain range was formed more than 200
million years ago. The Houng Son Complex area is a (20) ___ habitat of many rare and valuable species of
tropical fauna and flora as well as of primitive men in North Vietnam. A number of caves are archaeological
sites, belonging to the Hoa Binh Culture and dating back to over 10,000 years.

In the far past, (21) ____ advantage of the local natural beauty, ancient Viet people built a system of
hundreds of ~ Buddhist pagodas and temples in caves on mountain sides and streams. The most spectacular of
those is the Houng Tich Cave, (22) is also the most beautiful natural cave in the country. In this area, the
Huong Pagoda Festival, which is held annually, lasts for one month in spring with the (23) _ of hundreds of
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| thousands of people, both the Vietnamese and foreigners. The Huong Son Complex comprises three groups of
pagodas, temples and caves linked with one another by waterways.

19. A.above = . - B. about . C. under a @ on

20. A. naturalism - (B) natural ] C. nature - D. naturalist .

21. A.take- (B)taking . - .  C. have taken D. took -

22. A.where - *B. that ' hich - D. in which
23. A.gathering - B. presence participation D. contribution

‘Read the following passage and choose the best answer for each of the following questions (1,25 points)
One‘of the factors causing global warming is carbon monoxide. The more carbon monoxide there are in
- the atmosphere, the less the atmosphere is able to clean itself. The result is a warming of the atmosphere, the so-
called global warming, and possibly ozone damage. ' h 3 5
_ " Earlier, it was found that carbon monoxide was concentrated in the Southern Hemisphere, and could be -
attributed to deforestation. Huge areas of forest and grasslands in South America and Africa have been burned,

_' ° putting carbon monoxide into the atmosphere. Recently, however, the Southern Hemisphere has been found to

be clean, while the Northern Hemisphere is more polluted than expected.
The latest research was done during the northern winter, The high levels in the Northern Hemisphere
could be because of this. In winter carbon monoxide is destroyed more slowly. There are also more fires burned
in winter, and possibly industrial processes work harder. It could also reflect the ever-increasing number of cars
on the roads. Optimists hope that the reason why the North has overtaken the South as the major area of carbon
monoxide-is that at last the burning has stopped, or at least slowed down. _ S
24. According to the author, which of the following is a reason why in winter there.is more carbon monoxide in
the atmosphere?. : : i
A. There is a decrease in the amount of traffic on the roads, B. Fewer factories are working.
".C. Gentral heating means there are fewer fires nowadays. _@Carbon monoxide is not absorbed so fast.
25. Which of the following is NOT a reason for carbon monoxide? e
- A. Traffic. - B. Industry. @Ozone-damage. D: Burning of forest.
26. Which of the following is the best title for the passage? ‘ ' =
- A. Deforestation. ¥ B,/ Carbon monoxide in the atmosphere.
C. Global warming. | D. The warming of the atmosphere.
27. The phrase “concentrated” is closest in meaning to ............ )
A, existed - * B. produced -C. destroyed @ focused
28. Why are the optimists happy? oL _ '
' A. People are.buying more cars. :
B. There is more carbon dioxide in the North.
C..Industry must be doing better. :
@ Reople are possibly burning fewer forests in the Southern Hemisphere. '
Rewrite the following sentences so that it has the same meaning as the given one using the suggestion in
brackets or starting with the given words (1 point) : '
29. It was said that he had pumped salty water into the fields. And he admitted that.
He admitted . Juasioiy... pucoad... sally . wwalee dnbo e’ gpeldy :
30. Irish people who live in Great Britain have the right to vote in British elections. (Use an -ing participle
. clause) - = ' L . - o
....._Ifiﬁ.—f.-.-....;?.cic)zée;......f;‘.\z:i:.w.).’...éu......(.n:c.(c/.".....ﬁi'u‘.f.‘m}s....f.m.nf;;....-fﬁ.c..:..c.(‘gﬁf....ﬁ;.....\./.é.f.ri....;iu.... Eritith elecfrong
. 31. The boy asked for his mother's permission and then went out to play. _ ' :
Having cuiked e lid.. oactbar .. descnitivon.., .. i hey.. wienk.ouf o pla
32. The most excellent students who were rewarded the scholarship would have a two-week holiday in Vung
Tau. (Use a.to-infinitive clause)

..ﬂ".t...f'!'l{'SJ....ﬁ.‘JL.C(?.((FMJ;’...Hluc‘&e\f,(....’./'?..&(...‘.’EWH!.C(?C/._...:/ﬁf..:[(.ijtﬁ.(ﬁt.[élrf) wienll fawe @
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Fill each blank with an approprlate word from the box (Each word can be used only once. There are
more words than needed)(1,5 points)
archaeological undergraduate .| architectural heat-related
academic - archaeology .| infectious carbon footprint
1. The excavations that led to the discovery of the ancient city lasted several years.
2. Tn the polluted environment, diseases can be passed easily from one person to another.
3. The simplest way to reduce your . is to cycle to.school.
4. It is not easy at all to get a good job without a(n) ____ qualifications.
5. Most of these students are interested in pursuing studies for bachelor’s degrees
6. Taj Mahal is considered to be a masterpiece of ____style in design and construction techmques
Choose the underlined word or phrase (A, B, C or D) that needs correcting (1 point)
* 7. These companies are accused of releasing a large amount of carbon dioxide into the atmosphere last year.
A. amount B. of C.releasing D. the
8. Having cutting down many trees in the area in the past, the people here now have to suffer suffer from really hot
summers.
A. from B. to suffer C. in the past D. Having cutting
9 Due to the geographical barrier, he has been deciding to choose d:stance education in order to get his
university degree.

A, tp get i B. to choose 'C. has been deciding D. Due to
10. Amy seems like a bright student. She's always the first to be finished her work,
A. seems X B. the . C. to be finished : D. like

Rewrite the following sentences so that it has the same meaning as the gwen one using the suggestion in
‘brackets or starting with the given words (1 point), '

11. The boy-asked for hlS mother's permission and then went out to play.

Vi Bl ... .oc crnvonem nrenensndBinmnis s i maiRs Soman LS SE R SARR AT A0 s A ause

12. Irish people who live in Great Britain have the right to vote in British elections. (Use an -ing parncspie
clause)

13. [t was said that he had pumped salty water into the fields."And he admitted that.

He admitted ....... e N g e s R B U BE R A R b AR R

14. The most excellent students who were rewarded the scholarship would have a two-week hohday in Vung
Tau. (Use a to-infinitive clause)

Read the followmg passage and choose the best answer for each of the following questions (1,25 points)

One of the factors causing global warming is carbon monoxide. The more carbon monoxide there are in
the atmOSphere the less the atmosphere is able to clean itself. The result is a warmmg of the atmosphere, the so-
called global warming, and possibly ozone damage.

Earlier, it was found that carbon monoxide was concentrated in the Southern Hemisphere, and could be
attributed to deforestation. Huge areas of forest and grasslands in South America and Africa have been burned,
putting carbon monoxide into the atmosphere. Recently, however, the Seuthern Hemisphere has been found to

~ be clean, while the Northern Hemisphere is more polluted than expected.

The latest research was done during the northern winter. The high levels in the Northern Hemlsphere
could be because of this. In winter carbon monoxide is destroyed more slowly. There are also more fires burned .
in winter, and possibly industrial processes work harder. It could also reflect the ever-increasing number of cars
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* on the roads. Optimists hope that the reason why the North has overtaken the South as the major area of carbon

monoxide is that at last the burning has stopped, or at least slowed down. _ -

- 15. According to the author, which of the following is a reason why in winter there is more carbon monoxide in
the atmosphere? : : Vi :

A. Central heating means there are fewer fires nowadays.

B. There is a decrease in the amount of traffic on the roads.

C. Carbon monoxide is not absorbed so fast. :

D. Fewer factories are working. .

16. Which of the following is NOT a reason for carbon monoxide?

- A. Ozone damage. B. Burning of forest: *C. Industry. - o D. Traffic.
17. Why are the optimists happy? AT ) ;
A. People are buying more cars. B. There is more carbon dioxide in the North.

" C. Industry must be doing better.  D. People are possibly burning fewer forests in the Southern Hemisphere.
18. The phrase “concentrated” is closest in meaning to ............ ; '

- A. produced B. existed C. focused . D. destroyed

~ 19. Which of the following is the best title for the passage? - - j :

- A. The warming of the atmosphere. ‘B. Carbon monoxide in the atmosphere.
C. Deforestation. : D. Global warming. '

- Mark 1 or | in the box at the end of the sentences to indicate the rising or the falling intonation (0,5 °
point) ' : ;
20. A: The article is about the causes of global warming..

" B: The causes of global warming? ﬁ % _

31. What do international students like best about studying in Viet Nam? ]
Put the verbs in brackets in the correct tense or form (1,5 points) ;
22. Scientists (work) __on the site found many ancient tools, tombs and pottery, and made some important

- archaeological discoveries. ! I £ ‘ _

'23. (Watch) ___the documentary about wildlife, I made a donation to an environmental society.

24. How many times (you/ attend) ____ that international conference? '

' 25. The trees (plant) - last week are growing well. b )

26. Thank you for (save) ____the lives of hundreds of wild animals for the last twenty years.

27. They (build) ___ their house for ages and they hope to finish it next year.

Read the passage and choose the best option for each blank. (1,25 points)

: The Huong Son Complex of Natural Beauty and Historical Monuments is situated (28) ___ a limestone
mountain range, some 60 kilometres southwest of Hanoi. This mountain range was formed more than 200
_ million yeats ago. The Houng Son Complex area is a (29) __ habitat of many rare and valuable species of

" tropical faund and flora as well as of primitive men in North Vietnam. A number of caves are archaeological
sites, belonging to the Hoa Binh Culture and dating back to over 10,000 years.

' In the far past; (30) ___ advantage of the local natural beauty, ancient Viet people built a system‘of
hundreds of Buddhist pagodas and temples in caves on mountain sides and streams. The most spectacular of
those is the Houng Tich Cave, (31) ____is also the most beautiful natural cave in"the country. In this area, the
Huong Pagoda Festival, which is held annually, lasts for one month in spring with the (32) ____ of hundreds of
_ thousands of people, both the Vietnamese and foreigners. The Huong Son.Complex comprises three groups of

‘pagodas, temples and caves linked with one another by waterways. '

»

28. A.under - 3 e BeOn C. about D. above
© 29. A. nature T B. naturalist C.naturalism -~ D. natural 2
- 30. A. taking . B. took C. take D. have taken -
. 31. A. that ~B. which C. where ) D. in which
B. contribution C. participation D. presence

32. ‘A. gathering
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Read the passage and choose the best option for each blank.(1,25 points) .

The Huong Son Complex of Natural Beauty and Historical Monuments is situated (1) __ a limestone
mountain range, some 60 Kilometres southwest of Hanoi. This mountain range was formed more than 200
million years ago. The Houng Son Complex area is a (2) ___ habitat of many rare and valuable species of
tropjcal fauna and flora as well as of primitive men in North Vietnham. A number of caves are archaeological
sites, belonging to the Hoa Binh Culture and dating back to over 10,000 years.

In the far past, (3) . advantage of the local natural beauty, ancient Viet people built a system of
hundreds of Buddhist pagodas and temples in caves on mountain sides and streams. The most spectacular of
‘those is the Houng Tich Cave, (4) . is also the most beautiful natural cave in the country. In this area, the
Huong Pagoda Festival, which is held a annually, lasts for one month in spring with the (5) _ of hundreds of

_ thousands of péople, both the Vietnamese and foreigners. The Huong Son Complex compnses rises three groups of
pagodas, temples and caves linked with one another by waterways. ‘

1. A.on , B. under C. about D. above

2. A. nature B. natural C. naturalist ‘D. naturalism
3. A. taking B. took C. take ' D. have taken
4. A.that | - B. where C. in which D. which

5. A. presence B. gathering C. contribution D. participation

Read the fdll.owing passage and choose the best answer for each of the following questions (1,25 points)

One of the factors causing global warming is carbon monoxide. The more carbon monoxide there are in
the atmosphere the less the atmosphere is able to clean itself. The result is a warming of the atmosphere, the so-
called global warming, and possibly ozone damage.

Earlier, it was found that carbon monoxide was concentrated in the Southern Hemisphere, and could be
attributed to deforestatmn Huge areas of forest and grasslands in South America and Africa have been burned,
putting carbon monoxide into the atmosphere. Recently, however, the Southern Hemisphere has been found to
‘be clean, while the Northern Hemisphere is more polluted than expected.

The latest research was done during the northern winter. The high levels in the Northern Hemisphere
could be because of this. In'winter carbon monoxide is destroyed more slowly. There are also more fires burned
in winter, and possibly industrial processes work harder. It could also reflect the ever-increasing number of cars
on the roads. Optimists hope that the reason why the North has overtaken the South as the major area of carbon
monoxide is that at last the burning has stopped, or at least slowed down.

6. Which of'the following is NOT a reason for carbon monoxide?

A. Industry. . B. Traffic. C. Burning of forest. D. Ozone damage.

7. Why are the optimists happy?

A. Industry must be doing better,

B. People are buying more cars.

C. People are possibly burning fewer forests in the Southern Hemnsphere

D. There is more carbon dioxide in the North.

8. Accordmg to the author, which of the following is a reason why in winter there is more carbon mon0x1de in
the atmosphere? _

A. Central heating means there are fewer fires nowadays. B. Carbon monoxide is not absorbed so fast.
C. There is a decrease in the amount of traffic on the roads: D. Fewer factories are working.

9. Which of the following is.the best title for the passage?

A. Global warming. - B. Deforestation.

C. The warming of the-atmosphere. D. Carbon monoxide in the atmosphere.
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10. The phrase “concentrated” is closest in meaning to ............ - ' :
A. focused * - B. destroyed C.produced - - D. existed
Rewrite the following sentences so that it has the same meaning as the given one using the suggestion in
brackets or starting with-the given words (1 point) ~
.- 11. Irish people who live in Great Britain have the right to vote in British elections. (Use an -ing participle’
clause) : : ' '

..........................................................................................................................

12. Itwas jsaid'that he had pumped salty waier into the fields. And he admitted that.
He admitted .....ocvvemmeeeeesinninninnnnneneenes SOOI I, B W T , ;
13. The most excellent students who were rewarded the scholarship would have a two-week holiday in Vung -

...................................................................................................

Having asked ........ nshesnsusansenerenssesresantnseensanstetetes ve vaaa e s ARR AT
" Mark 1 or | in the box at the end of the sentences to indicate the rising or the falling intonation (0,5 )
_ point) (0,5 point) : ; i
15. What do international students like best about studying in Viet Nam? D
16. ‘A: The article is about the causes of global warming. [’
B: The causes.of global warming? . _ ! :
Fill each blank with an appropriate word from the box (Each word can be used only once. There are

" more words than needed) (1,5 points)

archaeological undergraduate architectural . | heat-related

academic ' archaeology infectious - | carbon footprint
17. In the polluted environment, diseases can be passed easily from one person to another. -

18.The ___ excavations that led to the discovery of thé ancient city lasted several years.

19. Most of these students are interested in pursuing studies for bachelor’s degrees.
20. The simplest way to reduce your is to cycle to school. ;
- 21. Taj Mahal is cqnsidéred to be a masterpiece of ___style in design and-construction techniques.

22. It is not easy at all to get a good job without a(n) _ qualifications.

Put the verbs in brackets in the correct tense or form (1,5 points) :
' 23. (Watch) ___ the documentary about wildlife, I made a donation to an environmental society. .
. 24.Thank you for (save) - _the lives of hundreds of wild animals for the last twenty years. '
25. The trees (plant) __ last week are growing well. _ . :
. 26. They (build) ___ their house for ages and they hope to finish it next year.

- 27. How many times (you/attend) ____ that international conference? _

28. Scientists (work) ___ on the site found many ancient tools, tombs and pottery, and made some important

- archaeological discoveries. . - ‘ : '
Choose the underlined word or phrase (A, B, C or D) that needs correcting (1 point)

29. Amy seems like a bright student. She's always the first to be finished her work.

A. seems * B.the 'C. like -D. to be finished (s
30. These companies are accused of releasing a large amount of carbon dioxide into the atmosphere last year.
A. the ' B. amount .C,of D. releasing

31. Due to the geographical barrier, he has been deciding to choose distance education in order to get his
university degree. - ' ! oy e : :

‘A.toget - ' . B.has been deciding C. to choose D.Dueto

32. Having cutting down many trees in the area in the past, the people here now have to suffer from really hot
summers. o i s 25 '

~ A. Having cutting . B. from C. in the past D. to suffer
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Rewrite the following sentences so that it has the same meaning as the given one using the suggestion in
brackets or starting with the given words (1 point)

1. The boy asked for his mother's permission and then went out to play.

HAavInRasked ... .« ..oonsiesamimzss s R L e LY ST L

2. Irish.people who live in Great Britain have the right to vote in British elections. (Use an -mg participle
c]ause)

3. The most excellent students who were rewarded the scholarship would have a two-week holiday in Vung
Tau. (Usc a to-mﬁmtwe clause) v

4. Tt was sald that he had pumped salty water into the fields. And he admitted that.

He QAMINOA .. oo ohsridiinsovenmrsssmnnvisstnets samassssatiovss Snresessas i sne

Read the following passage and choose the best answer for each of the following questions (1,25 points)

One of the factors causing global warming is carbon monoxide. The more carbon monoxide there are in
the atmosphere, the less the atmosphere is able to clean itself. The result is a warming of the atmosphere, the so-
called global warming, and possibly ozone damage. i

- Earlier, it was found that carbon monoxide was concentrated in the Southern Hemisphere, and could be
attributed to'deforestation. Huge areas of forest and grasslands in South America and Africa have been burned,
putting carbon monoxide into the atmosphere. Recently, however, the Southern Hemisphere has been found to

“be clean, while the Northern Hemisphere is more polluted than expected.

The latest research was done during the northern winter. The high levels in the Northern Hem:sphere
could be because of this. In winter carbon monoxide is destroyed more slowly. There are also more fires burned
in winter, and possibly industrial processes work harder. It could also reflect the ever- increasing number of cars
on the roads. Optimists hope that the reason why the North has overtaken the South as the major area of carbon
monoxide is-that at last the burning has stopped, or at least slowed down, .

5. According to the author, which of the following is a reason why in winter there is more carbon monoxide in .
the atmosphere? :

A, Central heating means there are fewer fires nowadays B. Fewer factories are working.

C. There is a decrease in the amount of traffic on the roads. D. Carbon monoxide is not absorbed so fast.
6. Why are the optimists happy? ' :
A. There is more carbon dioxide in the North.

B. People are possibly burning fewer forests in the Southern Hem:sphere
C. People are buying more cars. :

D. Industry must be doing better.

7. Which of the following is NOT a reason for carbon monoxide?

A. Industry. - B. Burning of forest. C. Traffic. D. Ozone damage.
8. Which of the following is the best title for the passage? '
A. Global warming. : B. Deforestation.
C. The warming of the atmosphere. ! D. Carbon monoxide in the atmosphere.
9. The phrase “concentrated” is closest in meaning to ............
A, focused . - B. produced : C. existed D. destroyed
Read the passage and choose the best option for each blank. (1,25 points) ‘
The Huong Son Complex of Natural Beauty and Historical Monuments is situated (10) ____ a limestone

.mountain range, some 60 kilometres southwest of Hanoi. This mountain range was formed more than 200
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million years ago. The Houng Son Complex area is a (11) ___ habitat of many rare and valuable species of
tropical fauna and flora as well as of primitive men in North Vietnam. A number of caves are archaeological
sites, belonging to the Hoa Binh Culture and dating back to over 10,000 years. i ) :

: In the far past, (12) __. advantage of the local natural beauty, ancient Viet people built a system of
hundreds of Buddhist pagodas and temples in caves on mountain sides and streams. The most spectacular of
those is the Houng Tich Cave, (13) ____ is.also the most beautiful natural cave in the country. In this area, the
Huong Pagoda Festival, which is held annually, lasts for one month in spring with the (14) ___ of hundreds of
thousands of people, both the Vietnamese and foreigners. The Huong Son Complex comprises three groups of
pagodas, temples and caves linked with one another by waterways. '

10. A.above B. on C. about D. under
11. A. naturalist B. nature " C.naturalism  D.natural
12. A.taking 7 B.took - C.take " D. have taken
. 13. A. where ~ B.in which C. that ~ D. which
14. A. participation B. presence C. contribution D. gathering "

- Choose the underlined word or phrase (A, B, C or D) that needs correcting (1 point)

15. These companies are accused of releasing a large amount of catbon dioxide into the atmosphere last year.
A. releasing ~ B.the C.of L D. amount

16. Having cutting down many trees in the area in the past, the people here now have to suffer from really hot
summers.

-~ A. Having cutting’ B. to suffer C. from D. in the past
17. Amy séems like a bright student. She's always the first to be finished her work.
A.-seems B. the .C. to be finished i D. like
18. Due to the geagraphical barrier, he has been deciding to choose distance education in order to get his
university degree. i S e
A. has been deciding . B. to choose C. to get ; D. Due to
Put the verbs in brackets in the correct tense or form (1,5 points)
19, The trees (plant) ___ last week are growing well. . , i
20. How many times (you/ dttend) that international conference? : :
- 21. (Watch) _ the documentary about wildlife, I made a donation to an environmental society. . 7
22. Scientists (work) ___on the site found many ancient tools, tombs and pottery, and made some important
- archaeological discoveries. )
© 23. Thank you for (save) ___ the lives of hundreds of wild animals for the last twenty years.

24. They (build) ___ their house for ages and they hope to finish it next year. _
Fill each blank with an appropriate word from the box (Each word can be used only once. There are
more words than needed) (1,5 points) ‘

‘| archaeological - undergraduate architectural heat-related
academic . archaeology infectious " | carbon footprint

25. The ‘excavations that led to the discovery of the ancient city lasted several years.
26. It is not easy at all to get a good job without a(n) qualifications.
27. The simplest way to reduce your _ istocycleto school. yt
28. Most of these students are interested in pursuing studies for-bachelor’s degrees.
I29'. In the polluted environment, diseases can be passed easily from one person to another.
'30. Taj Mahal is considered to be a masterpiece of . . style in design and construction techniques.
Mark 1 or ] in the box at the end of the sentences to indicate the rising or the falling intonation (0,5
point) - T : '
31. A: The article is about the causes of global warming.
B: The causes of global warming?
32. What do international students like best about studying in Viet Nam? [:]
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I Llsten and declde whether the followmg statements are T (true) or F (false). erte the letter T or
F in'the box. (1 point) -

1. One in sixteen deaths worldwide is because of pollution. F

2. Non-infectious diseases include heart disease, lung cancer and stroke. T-

3. Bangladesh and Somalia had the lowest numbers of pollution-related deaths. | [~

4. Karti Sandilya said air pollution was the first biggest killer. T_

II. Listen and fill each gap with ONE or TWO words taken from the listening passage (1 pmnt)
1. Education can make the difference between 9, /7o _and failure.

2 RlCh countnes have good schools, and children start lcarnmg from a very U

3.In Japan there are even 0 vale schools for babies to learn English.
’ .

4. Education is the key to a béiﬁéﬂ i(m‘_];gz g



&p an ma 112

SOGD & DT HANOF  PEKIEM TRA GIUA HQC Ki I NAM HQC 2020-2021
TRUO'NG THPT SOC SON MON TIENG ANH LOP 11

So thir tyr D

L Llsten and decide whether the following statements are T (true) or F (false). erte the letter T or
F in the box. (1 point)

i Mo;t of the deaths caused by pollution were from infectious diseases. F‘

2. Researchers said most pollution-related deaths occurred in poorer countries. T

3. Brimei and Sweden were the worst affected countries. . F

4, Karti Sandilya said thé first biggest killer was water pollution E

II. Llsten and fill each gap with ONE or TWO words taken from the listening passage (1 point)
I An education can bring us NKS and make us rich.
2 Rich countries have good schools, and ¢hildren can further their education and go to
l G Br\university. . |
3. Schools need to find }) e dtor ways to teach, so children want to learn.

4.1t’s sadlthat in mm]f L ﬁlClI of the world, children want to learn but can’t,




